
The shop has 10 balls. They need to be put in boxes of 
2. How many boxes are needed? 

 

Flowers are sold in bunches of 4. There are 16 flowers. 
How many bunches can be made? 

 

Mrs Stephenson has 12 blocks. 3 will fit into a tray. 
How many trays will she need? 

 

Mark buys 15 ice lollies creams for his van. They are 
sold in boxes of 5. How many boxes did he buy? 

 

At the fair balloons are sold in sets of 3. There are 9 balloons. 
How many sets will there be? 

 

Asda have 14 carrots. They need to be sold in packs of 2. 
How many bags are needed?  


